Sutter Buttes Communications, Inc.

Quote

445 Palora Avenue Yuba City, Ca. 95991 Shop: (530) 673-3475 Toll Free: (800) 300-0054

Customer:

Address:

Colusa PD

David/Josh

Attention: Re:

Getac Laptops

Fax:

Phone:

Email:

Quote # AW011625-1 Quote Date 1/16/2025

YOUR ORDER NO.

TERMS Net 30

SERVICE REP

SALES REP Andrew Welch

F.O.B.

Quote Valid For: 30 Days

QUANTITY	DESCRIPTION	UNIT PRICE	AMOUNT	
5	Getac S410G5 - Intel i7-1360P, Hello Webcam, W 11+16GB Ram, MFG# ST476AQASHXX SR FHD LCD+ Touchscreen + Stylus, Membra WIFI+BT+4G LTE w/ dedicated GPS/GLONAS TB 4, 3 Year Limited Warranty	ne Backlit KBD,	\$15,500.00	
5	Getac Bumper to Bumper Warranty - Semi Rug Laptop (Year 1, 2 of MFG# GE-SVSRNFW3Y	\$ 3) 335.00	\$1,675.00	
N. de Trie	osal covers the purchase only of above listed equipment. Mounts a	nd brackets will be Parts	17,175.00	
quoted on a separate quote and include installation. Brackets and mounts will be vehicle and console brand specific. Please allow 4-6 weeks for equipment delivery and 4-6 weeks for installation. Scope of work to be done at SBC over a 4 hour period. SBC will honor all manufacturers' warranties.		0.00		
		anties.		
		Sales Tax (7.25%)	1,245.19	
		Estimated S/H	150.00	
		ote that freight is estimated.	\$18,570.19	
DIRECT ALL Name	INQUIRIES TO: Final invo			
Name Phone		Payment for equipment is due upon delivery of equipment		

Phone

530-673-3475

e-mail:

awelch@sutterbuttescomm.com

Payment for equipment is due upon delivery of equipment. Labor will be invoiced after the project is completed.

THANK YOU FOR YOUR BUSINESS!

File: Colusa PD Getac Laptop Quote AW011625-1

Printed: 1/16/2025

Sutter Buttes Communications, Inc.

Quote

445 Palora Avenue Yuba City, Ca. 95991 Shop: (530) 673-3475 Toll Free: (800) 300-0054

Customer:

Colusa PD

Quote # AW021225-1

Address:

Quote Date 2/12/2025

YOUR ORDER NO.

Attention: Re:

Josh/David

Fax:

Getac Laptop Mount Quote

Phone: Email:

Net 30 **TERMS**

SERVICE REP

SALES REP Andrew Welch

F.O.B.

Quote Valid For: 30 Days

QUANTITY	DESCRIPTION	UI	NIT PRICE	AMOUNT
	2021+ Chevy Tahoe (4)			
4	Gamber Johnson Side Pole Mount DS-138		80.00	\$320.00
4	Gamber Johnson Upper Pole 7160-0178		95.00	\$380.00
4	Gamber Johnson 9" Swing Arm 7160-0220		320.00	\$1,280.00
4	Gamber Johnson Getac Laptop Dock with Power Supply 7	160-0537	1,125.00	\$4,500.00
4	Panorama Sharkee Antenna GPSB5G		200.00	\$800.00
	2020+ Ford Utility (2)			
2	Gamber Johnson 9" Swing Arm 7160-0220		320.00	\$640.00
2	Gamber Johnson Getac Laptop Dock with Power Supply 7	160-0537	1,125.00	\$2,250.00
2	Panorama Sharkee Antenna GPSB5G		200.00	\$400.00
	2018 Dodge Charger (1)			
1	Gamber Johnson Pedestal Mount System 7170-0138		670.00	\$670.00
1	Gamber Johnson 9" Swing Arm 7160-0220		320.00	\$320.00
1	Gamber Johnson Getac Laptop Dock with Power Supply 7	160-0537	1,125.00	\$1,125.00
1	Panorama Sharkee Antenna GPSB5G		200.00	\$200.00
7	Misc. Wire, Loom, Connectors, Fuses, Hardware Etc.		35.00	\$245.00
	Loosal covers the purchase of above listed equipment. Program	ming and installation are Parts		13,130.00
not included.		Labor		0.00
		Sales	Гах (7.25%)	951.93
		Estima	ted S/H	200.00
		se note that freight is estimate		\$14,281.93
		Final invoice will reflect actual shipping.		
Name	Andrew Welch			AMOUNT

Phone

530-673-3475

Payment for equipment is due upon delivery of equipment.

awelch@sutterbuttescomm.com e-mail:

THANK YOU FOR YOUR BUSINESS!

File: Colusa PD Getac Install Project AW021225-1

Printed: 2/12/2025



Getac S410

Quote #ITS064600NJ

Prepared by:

New Jersey Office Brenda Sweeney 46 Fourth St Somerville, NJ 08876

P: 302-300-4984

E: BSweeney@itsg.us.com

Bill to:

Colusa Police Dept

David Jackson 260 6th St Colusa, CA 95932

P: (530) 777-8032

E: djackson@colusapd.org

Ship to:

Colusa Police Dept

David Jackson 260 6th St Colusa, CA 95932

P: (530) 777-8032

E: djackson@colusapd.org

Date Issued: **01.14.2025**

Expires: **03.15.2025**

Contract #:

Products		Price	Qty	Ext. Price
ST476AQASHXX	S410G5 - Intel i7-1360P, Hello Webcam, W 11+16GB RAM, 256GB PCIe SSD, SR FHD LCD+Touchscreen+Stylus, Membrane Backlit KBD, WIFI+BT+4G LTE w/dedicated GPS/GLONASS+Passthrough, TB 4, 3 Year Limited Warranty	\$3,217.00	5	\$16,085.00
GE-SVSRNFW3Y	(BUMPER TO BUMPER)- SEMI-RUG LAPTOP (YEAR 1,2 & 3)	\$342.00	5	\$1,710.00
GDVPGK	S410 GAMBER JOHNSON VEHICLE DOCK W/Z RF (INCLUDE 120W VEHICLE ADAPTER)	\$840.00	7	\$5,880.00
590GBL001019	Panorama Antenna; GP-IN2758,3-in-1 GPS/4G/5G for dock w/ 16 coax -SMA 3 RF Passthrough, Black	\$262.00	7	\$1,834.00
C-HDM-205	Havis - 10" Heavy-Duty Telescoping Pole, Side Mount, Short Handle	\$158.00	6	\$948.00
C-MD-112	Havis - Tilt/Swivel Slide Motion Adapter	\$238.00	6	\$1,428.00
C-HDM-401	Havis - Heavy-Duty Stability Side Support Arm, Mounts To OEM Frame Under Passenger Glove Box Door	\$51.00	6	\$306.00
PKG-PSM-368	Havis - Premium Pedestal Mount Package For 2011-2023 Dodge Charger, 2014- 2023 Awd Charger & Chrysler 300	\$541.00	1	\$541.00
			Subtotal:	\$28,732.00

ITS Shipping		Price	Qty	Ext. Price
Shipping	Shipping	\$0.00	1	\$0.00
			Subtotal:	\$0.00

Quote Summary	Amo	ount
Products	\$28,732	2.00
	Total: \$28,732	2.00

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

WE SHALL NOT BE LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, NOR FOR INCIDENTAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, DAMAGES RELATED TO THIS AGREEMENT. MINIMUM 15% RESTOCKING FEE WITH ORIGINAL PACKAGING. PANASONIC & GETAC PRODUCTS ARE BUILT TO ORDER AND NOT RETURNABLE.

A 3% PROCESSING FEE WILL BE ADDED TO ALL INVOICES PAID BY CREDIT CARD.

Quote #ITS064600NJ v1 Page: 1 of 2



QUOTATION

Date

Jan 14, 2025

Customer Colusa Police Department

Salesperson John Saba

Contact

David Jackson

Phone 866-724-6257 x324

Phone

Email

johns@glaciercomputer.com

Email

djackson@colusapd.org

Quote #

GLAQ4520

QTY	PART NUM	DESCRIPTION	MSRP	SALE	EXT PRICE
5	8881093	Getac S410G5 14" Notebook - Intel i7-1360P Processor-Windows 11 pro - 256G PCle SSD, Hello webcam, 16GB RAM, LTE, WiFi, BT, dedicated GPS/GLONASS, passthrough, 3 year warranty	\$3,386.00	\$3,263.65	\$16,318.25
5	4167222	Getac Bumper-to-Bumper - 3 Year -1,2,3, yr Warranty - S410- Parts & Labor - Physical	\$359.00	\$350.65	\$1,753.25
7	4918337	Getac Gamber Johnson Docking Station - for Notebook - 120 W - Docking	\$1,554.00	\$877.14	\$6,139.98
7	7489960	PANORAMA ANTENNA; GP-IN2758,3-IN-1 GPS/4G/5G FOR DOCK W/ 16 COAX -SMA 3 RF PASS	\$263.01	\$250.14	\$1,750.98
6	2725366	Havis Vehicle Mount for Vehicle Console, telescoping pole side mount	\$244.00	\$175.52	\$1,053.12
6	4430988	Havis Vehicle Mount for Notebook, Tablet PC- 11" slide out swing arm with motion adapter	\$367.00	\$262.54	\$1,575.24
6	2725231	Havis C-HDM-401 Vehicle Mount- stability brace	\$79.00	\$56.61	\$339.66
1	4724740	Havis Vehicle Mount for Utility Vehicle (UTV), Pedestal, Computer - premium pass side pedestal mount package for 2011-2023 Dodge Charger- swing arm, stability support base - Height Adjustable	\$833.00	\$598.89	\$598.89

TOTAL EXTENDED	\$29,529.37
----------------	-------------

Quote Notes

- Terms are net 30 pending proper credit approval.
- Devices are built to order, no returns or exchanges.
- All orders are subject to Glacier Terms & Conditions.
- Quote expires in 30 days.
- Shipping is free.

Thank you for the opportunity to quote your rugged computing needs. Glacier Computer has over 20 years of data collection experience across various industries and applications. Please call with any questions.